
13. а) Решите уравнение  
𝟓𝒔𝒊𝒏𝟐𝒙−𝟑𝒔𝒊𝒏𝒙

𝟓𝒄𝒐𝒔𝒙+𝟒
= 𝟎. 

б) Найдите все корни этого уравнения, принадлежащие отрезку   −
𝟕𝝅

𝟐
; −𝟐𝝅 . 

Решение.  
𝟓𝒔𝒊𝒏𝟐𝒙−𝟑𝒔𝒊𝒏𝒙

𝟓𝒄𝒐𝒔𝒙+𝟒
= 𝟎; 

  𝟓𝒔𝒊𝒏
𝟐𝒙 − 𝟑𝒔𝒊𝒏𝒙 = 𝟎

𝟓𝒄𝒐𝒔𝒙 + 𝟒 ≠ 𝟎
 ; 

  
𝒔𝒊𝒏𝒙 𝒔𝒊𝒏𝒙 −

𝟑

𝟓
 = 𝟎

𝟓𝒄𝒐𝒔𝒙 + 𝟒 ≠ 𝟎

 ;  

  
 
𝒔𝒊𝒏𝒙 = 𝟎

𝒔𝒊𝒏𝒙 =
𝟑

𝟓

 

𝒄𝒐𝒔𝒙 ≠ −
𝟒

𝟓

 ; 

 
 
 

 
 

 

𝒙 = 𝝅𝒏, 𝒏 ∈ 𝒁

𝒙 = 𝒂𝒓𝒄𝒔𝒊𝒏
𝟑

𝟓
+ 𝟐𝝅𝒌, 𝒌 ∈ 𝒁

𝒙 = 𝝅 − 𝒂𝒓𝒄𝒔𝒊𝒏
𝟑

𝟓
+ 𝟐𝝅𝒌, 𝒌 ∈ 𝒁

 

𝒙 ≠ ± 𝝅 − 𝒂𝒓𝒄𝒄𝒐𝒔
𝟒

𝟓
 + 𝟐𝝅𝒌,𝒌 ∈ 𝒁

 ; 

 
𝒙 = 𝝅𝒏,𝒏 ∈ 𝒁

𝒙 = 𝒂𝒓𝒄𝒔𝒊𝒏
𝟑

𝟓
+ 𝟐𝝅𝒌,𝒌 ∈ 𝒁

 . 

б) Найдем  все корни этого уравнения, принадлежащие отрезку   −
𝟕𝝅

𝟐
; −𝟐𝝅 . Покажем на 

единичной окружности.  

 

𝒙𝟏 = −𝟑𝝅; 
𝒙𝟐 = −𝟐𝝅. 
 

 

 

 

 

 

Ответ. а) 𝝅𝒏, 𝒏 ∈ 𝒁 ; 𝒂𝒓𝒄𝒔𝒊𝒏
𝟑

𝟓
+ 𝟐𝝅𝒌, 𝒌 ∈ 𝒁. 

            б) −𝟑𝝅; −𝟐𝝅. 
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